
Branston U3A Crossword 2 
 

Solve the crossword and the letters in the shaded squares will give an anagram of a 

Lincolnshire village – but which one? 

Beware that some of the clues are semi-cryptic! 

 
1 2 3 4 5

6 7 8

9

10 11

12 13

14

15 16 17 18

19

20 21 22 23

24

25 26

27 28

 
 

Across 

6. Reveller. (9) 

7. WWI decoy vessel. (1-4) 

10. Greasy. (7) 

11. Green? (6) 

12. Greek portico. (4) 

13. Easy stroll for a dance? (8) 

15. Degree of light penetration. (7) 

17. Axillae. (7) 

20. Erne. (3-5) 

22. Religious leader. (4) 

25. Infers. (6) 

26. Lowering water. (3-4) 

27. Chalcedony. (5) 

28. Fit to sail. (9) 

 

Down 

1.  Spanish snack. (5) 

2. Precise. (6) 

3. Unknowing. (8) 

4. Follett’s key and du Maurier’s ex-wife. (7) 

5. Amazonian queen. (9) 

8. Tighten mistakenly? (5-2) 

9. Gadwall’s no score? (4) 

14. Limb (9) 

16. Hairy sailors’ dismissal? (4-3) 

18. NHS Support symbols. (8) 

19. Magic Roundabout’s Jack-in-the-box. (7) 

21. Hospital, goodness gracious! (4) 

23. Beehive. (6) 

24. India’s Capital District. (5) 

 

 


